
Instrukcja Montażu Haka Holowniczego

1

TABELA MOMENTÓW SIŁY DOKRĘCANA

Hak holowniczy

Zastosowanie:

;Citroen Jumper - 2006> - Skrzynia,

Fiat Ducato - 2006> - Skrzynia,

Peugeot Boxer - 2006> -  Skrzynia,

R =3000 kg

D= 15.9 kN

S=120 kg

A

B

B

M12*130

C

*

#

12*60

M16*45

M10*35

M10*35

M12*35

M12*60

Installation Instructions tow hitch

1 open a live mounting holes on the back waist fi11 mm drill

2 Place the main bar "A" to the rear lane and turn with screws and washers

M10x35 enlarged fi 10 washers and nuts M10

3 Find and remove protection from the square holes on the bottom lengthwise

and place them special nut "*"

4 Side brackets "B" Apply from the inside longitudinally through the factory

holes and fix the stringer bolts M12 * 130

For models L4 to twist side supports "B" with side drill one hole fi 13 (mm ) for

the side by the two walls at the location of the hole in the bracket "B"

6 Element "C" turn to the underside of the stringer by means of bolts with M

12x60 # special distance to the right and the M12 * bolt 40 with a nut on the left

of the special "*"

8. Beams hook a ball screw bolts M16x45

9 electrics mount hook

10 Tighten all Bolts in accordance with the table of moments


